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A 8 & %| | 98,080 (158,060)| 81,400 (141,380)|+| 960 (1,470) xm#E | 79 (1,300 xmsmE |+| 7.410] 70xmmx
304 o |1, 2m| | 158,060 (232 220)| 141,380 (215,540)|+| 1,470 (2.210) xmEE | 1,300 (2,040) xmEE
£T | 3% [y w| | 232220 215, 540 +[ 2210 xmEE | 2 040 X mEE
5TA | g |*BSER| [ 73120] (80630 60,610 (68.020)|+[_ 710 (780) puak | 580] (650) ik | +[C.410)] (oxmmm)
i 8 & | | 80580 (140.510)| 68,020 (126,000)(+| 780 (1,200) xm¥zk | 650 (1,170) xmEE LU0 ToxnEE
40A o [1. 2®| | 140,510] (214,670)| 128 000] (202 160)[-+| 1,290 (2,030) xpmEE | 1,170 (1,910) xmFE
T | 3% |y w| | 214670 202, 160 +| 2030 xmE®E | 1,910 x o
S| g5 |#BSER| [ 67090 (75.400)| 67,980 (66,390)|+[ 660 (730) >k | 50| (630) ik | +[(.410] (oxmmE)
A 8 i ®| | 75400 (1%,380)| 65,300 (125370)|+| 730 (1,240) xmsE | 630 (1,140) xmsmE |+| 7.410] s0xmmx
50X o [1. 2&m| | 135380 (209,540)| 125,370 (199,530)|+| 1,240 (1,980) >k | 1,140 (1,880) xmEE
T | 3% [y w| | 209,540 199, 530 +[ 1,980 x gk | 1,880 X mEE
51 | g |*ESER| [ 50460 (@6.670)| 61,120 (58,630)|+[ 570 (640) > puak | 490] (560) > mnsak | +[(.410)] (o)
A 8 & ®| | 66,870 (12685)| 66,50 (118,510)|+| 640 (1,150 xmsk | 560 (1,070) xmEE |+| 7.410] s0xmmx
60A o [1. 2®| | 126,850 (201,010)| 118,510] (192 670)[-+| 1,150 (1,890) x %= | 1,070 (1,810) xmHFHE
T | 3% |y w| | 201 010 192, 670 +| 1,89 xmEE | 1,810 x o
N om [4BULR 53,450 (60, 860)[ 46, 300] (83 710)|+ 510  (580)| xfn&E & 440 (510)| xfE= (7,410  (FoxmExR)
A 8 & %| | 60860 (120.840)| 63,710 (113,690)|+|  580] (1,000) xm%E | 510 (1,000 xms#E |+| 7.410] s0xmmx
70A o [1. 2#®| | 120,840] (195 000)| 113 690 (187,850)[-+| 1,090 (1,830) x = | 1,020 (1,760) xmHFE
T | 3% |y w| | 195 000 187, 850 +| 1830 xmgE | 1,760 x o
TIA | o |4BSLER| [ 487000 (56.400)| 427400 (0, 150)|+[ 470 (540) >EE | 400 (470)| < | +[ (7.410)] (0xmEH)
A 3 @ | | 56400 (116,380)| 50,150 (110,130)|+| 540 (1,050) xm¥a& | 470 (990) x sk 240l TOmEE
80A o |1 2m®| | 116,380 (190,540)| 110,130 (184,290)|+| 1,050] (1,790) x mgz 990] (1,730) | x ¥
gT | 3% [y w| | 190,540 184, 290 +[ 1,790 xmgk | 1,730 X mEE
N e [4BULER 45,480 (52,890)| 39,920 (47, 330)| + 430)  (500)| x MNEX 380  (450)| xpnE& (7. 4100  (F0xmEEK)
NS 3 & R 52,890 (112,870)| 47,330 (107,310)|+ 500/ (1,010)] x & 450 (960)| x 3K 7,410 70xmEE
PN - [1. 2ERE 112,870 (187,030)| 107,310/ (181,470)|+| 1,010/ (1,750) | x &z 960| (1,700) Xfn¥x
| FT %% |a w| | 187,030 181, 470 +[ 1,750 xmEE [ 1,700 X R
w [ g0 g |4BULR 39,400 (46,810)[ 34,390] (41, 800)]+ 370]  (440)| xpnEE 320 (390)| xfnE= (7,410)|  (FoxmExR)
»s |73 8 =& 46,810 (106,790)| 41,800 (101, 780) |+ 440 (950) x ek 390 (900) xfnEEsk 7.410)  70xmEE
1001 o |1, 2m®| | 106790 (180, 950)| 101,780 (175, 940)[+| 950 (1,690) x mErsk 900/ (1,640) x ML
T | 3% |y " 180, 950 175, 940 +| 1,690 xmEx [ 1,640 X g
01K | 0 [ABULER 37,4300 (44, 840) 32,880 (40, 290) | + 350 (420)| x EX 310]  (380) xpnEx (7. 4100  (F0xmEEK)
e 3 & R 44,840 (104,820)| 40,200 (100,270)[+| 420  (930) xmEE 380 (890) x g 74100 70xmEE
110A o |1. 2mm| | 104820 (178,980)| 100,270] (174,430)|+| 930 (1,670) x m#zk 890 (1,630) x ML
T | 3% |y " 178, 980 174, 430 +| 1,670 xmeEx [ 1,630 X g
A | 0 [ABULR 36,760 (43,170)[ 31,590] (39, 000) |+ 330, (400)| x 290 (360)| x X (7,410  (70x mEX)
e 3 B R 43,170 (103 150)| 39,000] (98,980)|+| 400 (920) xmeE= 360 (880) x MK 74100 70xmEE
1204 o |1, 2mm| | 103150 (177,310 98,980] (173, 140)|+|  920] (1,660) x mzk 880 (1,620) x ML
T | 3% [y " 177,310 173,140 +| 1,660 xmE#E | 1,62 RIS
1218 | 0 [ABULR 34,340 (41,750) 30,490] (37, 900)| + 3200 (390)| x 280 (350)| x fnEE (7,410  (70x mEX)
e 3 & R 41,750] (101,730)| 37,900 (97.880)|+| 390 (900) x ¥z 350 (860) x N 7.410]  70xmEE
1304 o |1, 2mm| | 101,730 (175,890 97,880] (172,040)|+|  900| (1,640) x migzk 860 (1,600) x ML
T | 3% [y " 175, 890 172, 040 +| 1,640 xmg®E | 1,600 RIS
BIA | 0 |ABHUER 33,160] (40,570)[ 29,590[ (37, 000)| + 310]  (380)| xfnEx 270]  (340)| x g = (7,410  (FoxmExR)
e 3 B R 40,570 (100,550)| 37,000] (96,980)|+| 380 (890) xmE= 340 (860) x MK 74100 70xmEE
1400 o |1. 2mm| | 100550 (174,710)| 96,980 (171, 140)|+|  890| (1,630) x mzk 860 (1,600) x ML
T | 3% [y R 174.710 171,140 +| 1,630 xmg®E | 1,600 RIS
A | gp |ABULER 32,110]  (39,520)[ 28 780[ (36,190)] + 300 (370)| xpnEE 260]  (330)| xfnE= (7,410)|  (FoxmExR)
e 3 B =B 39,520 (99,500)| 36,190/ (96, 170)|+ 370]  (880) x & 330 (850) x gk 7,410  70x gy
1501 L. 2me 99,500 (173,660)| 96,170 (170,330)|+| 880 (1,620) xm®z 850 (1,500) x ML
T | 3% [y R 173, 660 170, 330 +| 1,620 xmg®E | 1,590 X g E
151A | pp |ABULR 32,060 (39,470)[ 28 930[ (36, 340)| + 300  (370)| xfnEE 270]  (340)| xfnE= (7,410  (FoxmExR)
e 3 & R 39,470]  (99,450)| 36,340 (96,320)|+| 870 (880) xmEzE 340, (850) x 7.410]  70xmEE
160N - |1, 2®R 99,450 (173,610)| 96,320 (170, 480) |+ 880 (1,620) x &= 850 (1,590) xmnExE
T | 3% |y w| | 173 610 170, 480 +| 1620 xmg®E | 1,590 x o
161A | o |#BALE| [ 31,220] (36630)| 28280 (86, 690)|+| 200 (360) xm¥aK | 260 (380)| x ek |+[ (7. 410)] (F0xmE)
n5 8 & ®| | 630 (98610 3560 (6560|+| 360 (870) xmEk | 830 (840) xmak |+| 7.410] 70
170A | |1 2m®R| | 98,610 (172770)| 95670 (169,830)|+| 870 (1,610) x %k | 840 (1,580)| x fnsgsk
T | 3% [y gl | 172,770 169, 830 +[ 1,610 x gk | 1,580 X mEE
oz |4 BHER 30,460 (37.870)| 27.680] (35, 000)|+| 280 (350) xjnEzE 250]  (320)] x EE |+[ (7. 410)] (0% mEE)
A | 7|3 & | | 87.870] (97.850)| 35000 (9,070)|+| 350, (860) xm%E | 320 (840) xmEE 2A10] 70X mEE
LN I N 7 97,850 (172,010)| 95,070 (169,230)|+|  860| (1,600) xmEzk 840 (1,580) x ML
e ®| [ 172,010 169, 230 +[ 1,600 XmE#R | 1,580 LSIEES
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x4 | EEED | g F@mKS - - - . Epae B2 2\
RRREE BAMR ke s BATMER e 5
g1 B Ok gmE |2 | g = & | w2 &
@ @ ©) @ (@) @ ®
om |4BULER a it | 31,600 35 200] 22, 100 22, 100
=
3 ®m R ~ 15A L bt | 17,400 19,400| 12,200 12, 200
oA v 1o 20| |0 4e0 300 X ANEE X AR A% 14,700 16,100 10,200 10,200 | +| "o oo ool 16 600 10, 600
FT %7 la 3 ditiig | 13,600 15,100 9,500 9,500
A s |4BULER a#ti% | 15800 17,600] 11,000 11,000
= N
" 3 m R 16A~ 254 o bt | 8700 9,700 6,100 6, 100
200 v 1o 2| |18 200 180 X B X MERA %K 7,300 8,000 | 5,100 5,100 s | 7600 8400 & 300 5 300
FT %7 |a 3 ditii | 6,800 7,500 4,700 4,700
2 A om |4BULR a#ti% | 10,900 12 200] 7,600 7, 600
= N
" 3 ®m R 26 A~ 35A o b | 6000 6 700 4,200 4 200
0% o |12 [ 13000 130 X MEE x MERA %K 5,100 | 5,600 | 3,500 3,500 s | 5200 5800 3600 3600
FT %7 |a 3 ditii | 4,700 5200 3,300 3 300
A s |4EULR attii% | 9800 10,900] 6,800 6,800
= N
" 3 ®m R 36 A~ 45A o bt | 5400 6,000 3 700 3, 700
0 o |1 2mm| |10 100 100 X B x MERA %K 4,400 | 4,900 | 3,100 3,100 s | 4700 5200 3300 3300
FT %7 |a 3 ditiig | 4,200 4,600 2900 2 900
A s |4BULR aitii% | 8800 9 800 6 100 6 100
= N
" 3 ®m R 46 A~ B0OA o bt | 4,800 5 400 3,400 3,400
50 o |1 2mn| | 7ommmAn 70 X MR X ANER A % 4,000 4,400 | 2,800 2,800 oo | 4200 4700 2900 2 900
FT %7 |a 3 ditii | 3,800 4,200 2600 2 600
5 A s |4BULR attl% | 7,200 8 100 5 100 5 100
= N
" 3 m R 61 A~ T5A o bt | 4,000 4 400 2 800 2, 800
60k o |1 2mn| | o0sxmm 60 X 05 X ANERA % 3,400 | 3,700 | 2,300 2,300 o | 3500 3800 2400 2 400
FT %7 |a 3 ditii | 3,100 3,400 2100 2100
oA s |4BULR atti% | 6300 7,100 4,400 4,400
= N
" 3 ®m R 76 A~ 90A o b | 3,500 3,900 2 400 2, 400
700 o |1 2mn| | somxmman 50 x N5 X ANERA ¥ 2,900 3,200 | 2,000 2,000 s | 3000 300 2100 2100
FT %7 la 3 ditii | 2,700 3,000 1,900 1,900
A s |4BULR atti% | 7,100 7,900] 4,900 4,900
= N
" 3 ®m R 91 A~ 105.A o bt | 3,900 4,300 2700 2 700
S0k v |1 2mn| | 430 40 x MK X ANERA B4 3,300 3,600 | 2300 2, 300 s | 3400 3800 2300 2300
FT %7 |a I3 ditii | 3,000 3400 2100 2100
P s |4BULR atti% | 6300 7,100 4,400 4,400
= N
" 3 m R 106 A~ 1201 o b | 3,500 3,900 2 400 2, 400
90 oo 112 2| | s80xmER 30 x MK X ANERA B 2,900 3,200 | 2,000 2,000 csm | 3000 3400 2100 2100
127100 FC |77 | B, ditii | 2,700 3,000 1,900 1,900
A I s |4BULR aitii% | 5500 6 200 3 900 3 900
= N
" 3 m R 121 A~ 1351 o bt | 3,000 3400 2100 2 100
1008 |01 2me| | 3380 mEAM 80> T3 X MBS A 2,600 2,900 1 1.800 | 1,800 o | 2,600 2900 1,800 1,800
FT %7 la I3 ditii | 2400 2600 1,600 1,600
01A | 9 [4BULR aitii% | 6100 6 800 4,200 4, 200
= N
" 3 m R 136 A~ 1501 L bt | 3300 3700 2300 2 300
noA |1 2me| | 3060 mEAM 30> T3 x MBS A% 2,900 3,100 1 2,000 | 2,000 o | 2,900 3,200 2,000 2 000
FT %7 la I3 ditii | 2,600 2900 1,800 1,800
A | e [4EHER ath | 5500 6 200] 3,900 3 900
k=1 N
" 3 m R 151 A~ 1804 L bt | 3,000 3400 2100 2 100
2ox [ 2| | 2500mEAE 20 x MK X ANERA B 2,600 | 2,900 | 1,800 1,800 s | 2600 2900 1800 1800
FT |77 |a 3 ditii | 2400 2600 1,600 1,600
1218 | = [4BHER att | 51000 5 700] 3,500 3, 500
= N
" 3 m R 181 A~ 2104 L bt | 2800 3100 1,900 1,900
wx [ 2| | 21700mmA 20 x MK X NERA B 2,400 | 2,700 | 1,700 | 1,700 s | 2400 2700 1700 1700
FT %7 |a 3 ditii | 2200 2400 1,500 1,500
1BIA | = [4BHER ath | 5500 6 200] 3,900 3 900
= N
" 3 m R 211 A~ 240K o bt | 3,000 3400 2100 2 100
wox [ 2 m| | 1 0omeAs 10X MNEE X AER AL 2,600 2,900 | 1,800 1,800 s | 2600 2900 1800 1800
FT %7 |a 3 ditii | 2400 2,600 1,600 1,600
A | e [4EHUER atl | 5 4000 6 000] 3,700 3, 700
= N
" 3 m R 241 A~ 270X o bt | 2900 3300 2000 2 000
BOA | o 1. 2R| | 160X mERAK 10> A2 > AOEE A M 2,400 2,700 1 1,700 1 1,700 o | 2,500 2800 1,800 1,800
FT %7 |a 3 ditii | 2300 2500 1,600 1,600
1BIA | = [4BHER ath | 4,800 5 400[ 3,400 3, 400
k=1 N
" 3 m R 271 A~ 300A o b | 2600 2900 1,800 1,800
1604 | o1, 28R| | 1520 mERAK 10> A2 > AOEE A M 2:300 2,500 1 1.600 | 1,600 o | 2300 2500 1,600 1,600
FT %7 |a 3 ditii | 2,000 2300 1,400 1,400
1614 | gm [4BHER ath | 5 4000 6 000] 3 7000 3, 700
= N
" 3 m R 301 A~ L btk | 2900 3300 2000 2 000
MOA | o 1. 2&R| | 130 mERAR 10 In 2 > fOEE A H 2,400 2,700 1 1,700 | 1,700 o | 2,500 2800 1,800 1,800
FT |77 |a 3 ditii | 2300 2500 1,600 1,600
s |4BUELR attii% | 4800 5 400] 3 400 3,400
= N
1714 3 m R bt | 2600 2900 1,800 1,800
e[ 1. 2&R 2,300 2,500 1 1,600 1. 600 ol | 2300 2500 1,600 1,600
D 3 ditii | 2,000 2300 1,400 1,400
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A 8 @ R | 27TA~ 3004 1, 440| + 10 g%
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e | BRED | i | FBED | | g gimAasl Bc2Bt@EEM AC3ELLIRE STOTRAEEF| |FomusarE| | 2TEsEA
e 35a Y 28a LEmRT 2184 T 354 BLTLARNEE
@ @ ©) @ @
om [ABULR
3 & Rl _|6+2+0+®) |[(BG+2+0@+®) |[(6+0+®+®) (®+@+®+®) | | (12,720 (44, 490
10A 3: 1. 2m|R X 1/100 X 2/100 X 4/100 x 5/100 +120 X INEX) +440 X fNEX)
FT |7 g " X A
A g [4BUER
s |78 & m|l |G+o+e+® |(@©+0+®+®) (G+D+®+@®) (@®+D+O®+®) | | (6 360 (22, 240
204 s |12 2B % 1/100 X 3/100 % 4/100 x 5/100 +60 X MEE) +220 X INER)
=T ) " X A
N g [4BUER
s | 78 & m|l |G+0+0+® |(@©+0+®+®) (G+D+®+@®) (B+D+®+®) | | 4 240 (14, 830
30N e 1. 2m|R X 1/100 x 3/100 X 4/100 x 5/100 +40 X INEXR) +140 X INEX)
=T ) " X A
3 e [4BHUER
s | 78 & m|l |G+o+e+® |(@©+0+®+®) (G+D+®+@®) (B+D+®+®) | | 3180 (11,120
40;\_5 s 1. 2&%R X 1/100 x 3/100 X 4/100 x 5/100 +30x nExK) +110x INEX)
- Bl 7 X A#
A pp [4BUER
s | 738 & m| |G+0+0+® |(@©+0+®+®) (G+D+®+@®) (B+D+O®+®) | | (2540 (8,890
50;\T . 1. 2mmB x 1/100 X 3/100 X 4/100 X 6/100 +20 % fnER) +80 % fnEx)
- £ I3 XAH
51 pm [4BUER
s | 738 & m| |G+o+e+® |(@©+0+0+®) (G+D+®+@®) (B+D+®+®) | | 2120 (7,410
60;\1 s 1. 2®R x 1/100 X 3/100 X 4/100 X 6/100 +20 x pnE =) +70x fnE =)
- Bl 7 X A#
I g [4BULER
s | 738 & ml |G+o+e+® |(@©+0+0+®) (G+D+®+@®) (@®+D+®+®) | | .80 (6, 350
70;\1 . 1. 2mm x 1/100 X 3/100 X 4/100 X 6/100 +10x fNER) +60 X fHExK)
- Bl 7 X A#
A e [4BULER
s | 78 & ml |G+o+e+® |(@©+0+0+®) (G+D+®+@®) (@®+D+®+®) | | (1,5% (5, 560
SOQT g2 |1 2BE x 1/100 X 3/100 X 4/100 X 6/100 +10X g =) +50 X INEE)
- Bl 7 X A#
81 g [4BULER
s | 738 & m|l |G+o+e+® |(@©+0+0+®) (G+D+®+@®) (@®+D+®+®) | | (.40 (4,940
90;\1 . 1. 2mme x 1/100 X 3/100 X 4/100 X 6/100 +10x fnER) 40 X =)
12/100 - 7 7 X NH
i 4mE LR
9TA 08
s | 738 & ml |G+o+e+® |(@©+0+0+®) (G+D+®+@®) (@®+D+®+®) | | (1,270 (4, 450
1004 3z |12 2ER X 2/100 X 3/100 x 5/100 X 6/100 +10x JHEExR) +40X INERK)
T | 3% |
. 7 X N#
oA | 25 AL ER
" 3 ® Rl _|6+2+0+®) | (®+0+®+®) |(B®+0+®+®) |(®+@+®+®) | | (1,150 (4,040
HO;\_C e 1. 2®|R X 2/100 x 3/100 X 5/100 X 6/100 +10X fnExK) +40 X INEXK)
- B 7 X A#
mA | 2z AL ER
" 3 ® Rl _|6+2+0+®) | (®+0+®+®) |(B®+0+®+®) |[(®+@+®+®) | | (1,060 (3,700
120;\T s |12 28R X 2/100 X 3/100 X 5/100 X 6/100 +10X mEx) +30 X MNEXK)
: £l [ XAH
2iA | 2z AL ER
" 3 ® Rl |6+2+0+®) |[(®+2+®@+®) |[(B+0+®@+®) | (®+@+®+®@) | | (970 (3,420
130;\1 s |12 28R X 2/100 X 3/100 X 5/100 X 6/100 +10x fnE ) +30x pnE )
- B 7 X A#
18A | 25 AL ER
" 3 ® Rl |6+2+0+®) |[(®+2+®@+®) |[(B+2+®+®) | (®+@+®+®) | | (900 (3,170
MO;\r s |12 28R X 2/100 X 3/100 X 5/100 X 6/100 +OX NER) +30X MNEXK)
: £l [ XAH
WA | 2z AL ER
i 3 ® Rl |6G+2+0+®) |[(®+2+®@+®) |[(B+20+®+®) | (®+@+®+®) | | (840 (2, 960
150§)\_C s 1 2m®R X 2/100 x 3/100 X 5/100 X 6/100 +8X MNEXR) +30x JnEXK)
- B 7 X A#
51A | 25 AL ER
" 3 ® Rl |6+2+0+®) |[(®+2+®@+®) |[(B+0+®+®) | (®+@+®+®) | | (79 (2,780
we‘oi)\T s [1. 28R X 2/100 X 3/100 x 5/100 X 6/100 +8x INERK) +20X MNERK)
- B 7 X A#
1618 | 25 AL ER
" 3 ® Rl |6+2+0+®) |[(®+2+®@+®) |[(B+0+®@+®) | (®+@+®+®@) | | (740 (2,610
170;T s |12 28R X 2/100 X 3/100 x 5/100 X 6/100 +7 X NER) +20X INERK)
- B 7 X A#
AL LR
9
171A "l & ®l |6+0+0+® (©+0+@+®) (O+D+®+®) | (@+D+®+®) | | (700 | @470
Lk 35 1. 2&%R X 2/100 x 3/100 X 5/100 X 6/100 +7XMNER) +20 X INEX)
SlED 3 X A%




BREREEERDD

= BEE e ER EERI
. it KB A=k @ PN
ﬂlzﬂ% EARS | o | FHES hétéa“i%é BBT 28
@
@ @ 6 @ @
ImUER
Bl & | |80 O~ ®eme,))
10N o |1, 2®mR +280 % INEHK)
T | 3% E) = X A%
dmElER
N 7w n | e ©~a GERe )
20)\b 2|1, 2R +140 X pnEK) x
£T 3% T, 5] RN
dmElER
AP NI 2= Sﬁﬁkg R|_| (9 450 G~® BFEKR. ) )7/100
30?\19 T +90 X INEE) x 8
T | 3% E) I X A%
dmElER
1PN 2= Sﬁﬁkg | _| (.09 G~® BFEKR. ) é/mo
o i 2me +70x A E) 9
T | 3% E) = X A%
dmElER
aLN | os 3ﬁﬁrg R|_| (5670 G~® BFEKR. ) >2/mo
50?\19 T +50 X M K) X9
£T 3% EN 5] X N#
dmElER
SN | 2m 3ﬁﬁrg RB|_| 4720 G~® BFEKR. ) z)/mo
6033\19 _ 1. 2me +40 X & =) x 9
T | 3% ) = X AN¥
dmElER
LD N 2= 3ﬁﬁrg R|_| (4050 G~® (BFEK. ) >2 00
7033\19 _ 1. 2me +40 X INE =) x 92/
T | 3% ) 7 X AN¥
dmElER
AP N 2= :ﬁﬁ B|_| 3540 G~® BFEKR. ) Z} 00
8033\19 _ 1. 2me +30 X IE =) x 89/
T | 37 |g 3 X A H
AEMLR
8IN | 28 3ﬁzﬁ,§ " (3,150 (®~0 (®&EKR<.) % 100
0h e |10 2BR +30XHD§)§; x o
< = g &l x
i ?ﬁuiﬁ
s A p2=1 3 & = \);; (2,830 (®~@ (B%EKR<. )923/100
wog)\b 1. 28R +20 X MEX) x
2T ¥ la  w XAt
4l ER
e fﬁ 7| | @50 ©~0 @R )
n?)\b L. 2me +20 x ME ) x 95/
Gl Nl XAt
EELER
e gﬁ% 7| | 2 360 ©~0 ®ER< )
wz?f Sl 2me +20 x ME ) x 95/
2T ¥ la  w XAt
EELER
e gﬁ% 7| | 80 ©~0 @R )
wsgf Sl 2me +20 x ME ) x 97/
T |35 g 7 X A
BELER
B 2B gﬁ% 7| | @ o2 ©~0 @R )
1433):) Sl 2me +20 x ME ) x 97/
Gl Nl XAt
EELER
e gﬁﬁ% w| | 890 ©~0 @R )
1533\)\19 N1 +10x ME ) x 98/
g |35 |y R X AH
R
N gﬁﬁi gl | a0 ©~0 @R )
weg)\b L. 2me +10x ME ) x 98/
g |35 |y [ X A%
R
R fﬁ 7| | . 660 ©~0 @R )
1733):) L. 2me +10x ME ) x 99/
e | %5 g B XA
AmM LR
e 120 & w| |asw ©O~D (@®FKR. )9;/100
mE [ 1. 2%R +10x pnEE=x) x
“la & X A%




REVEEXS ©

MEHEEME 1

SHmRBMEBEREMSE
s | g | BE | mpma RERERERE | GREEBERE RERERERE RERBEAT
K5 &% BB EARH B RBHEES
[ cx1) | [ Gx1) | GET) GET) 31
) @ © @ ® ® ©) @
)z |4RULER 229,550 (236, 840)| 180,210 (187,500)|+[ 2, 270] (2, 340)] xm&= | 1,780 (1,850) x ez (7,290)]  (70x B %)
3 & R 236,840 (296, 000)| 187,500 (246, 660)|+| 2 340/ (2, 850)| xm&= | 1,850 (2 350)] x mnEE 7,290 70X Mg
T0A L 1. 2me 296,000 (368, 970)| 246,660 (319,630)|+| 2 850 (3,580)| xm&= | 2 350 (3, 080) xmmEE
gT | 3% [y w| | 368 970 319, 630 +[ 3580 xmgE | 3 080 X mEE
A pm [4BULR 124,560 (131,850)[ 99,890] (107, 180)|+[ 1,220] (1,290)| x &= 980] (1,050)| x &= (7.290)| (70 mnEEK)
NS 3 & R 131,850 (191,010)| 107,180/ (166,340)|+| 1,290 (1,800) xpn&= | 1,050 (1,550) xfng=x 7,290 70X
20A L |1 2me 191,010] (263,980)| 166,340 (239,310)|+| 1,800 (2,530)| x &= | 1,550 (2, 280) x &=
T | 3% |y w| | 263 980 239,310 +| 2530 xmEE | 2 280 x o
2Th | g5 |#ESER| [ 80450 (96740 73,0100 (80.300)|+[ 870 (e40) huaE | 710] (760) sk | +[ (. 280)] (ox )
NS 3 & R 96,740 (155,900)| 80,300 (139, 460) |+ 940/ (1,440)| x g = 780  (1,280)| xmnE= 7,290 70X
30N - [1. 2BRE 155, 900| (228, 870)| 139,460 (212, 430)|+| 1,440 (2,170)| <& | 1,280 (2 010) Xjn&E=x
T | 3% |y w| | 228 870 212, 430 + 2170 xmE®E | 2010 x o
N pm [4BULR 72,120] (79, 410)[ 59, 780] (67, 070)] + 700 (770)| xfnEE 570]  (640)| xfng= (7,290)|  (70x %K)
NS 3 B B 79,410] (138,570)| 67,070 (126, 230) |+ 7700 (1,270) xmER 640 (1,150) X E=R 7,290 70X Mg
40A L1 2me 138,570 (211,540)| 126,230 (199,200)|+| 1,270] (2,000)| x &= | 1,150 (1,880) x =
gT | 3% [y w| | 211,540 199, 200 +[_ 2000 x gk | 1,880 X mEE
A pm [ABULER 67,060 (74,340)[ 57, 180[ (64 470)| + 650  (720)| xfnExE 550  (620)| x g = (7,290)|  (70x %K)
NS 3 ® R 74,340 (133,500) 64, 470] (123, 630)| + 720) (1,220)| x &= 620 (1,120)| xfnE= 7,290 70xnExE
50A L1 2me 133,500] (206, 470)| 123,630 (196,600)|+| 1,220 (1,950)| x &= | 1,120 (1,850) x =
T | 3% |y w| | 206 470 196, 600 + 1,950 xmgE | 1,850 x o
51 A pm [4BULER 58,640 (65,930) 50, 420] (57, 710)| + 560,  (630)| x mEE 480 (550) | x fnEE (7,290)|  (70x mEX)
NS 3 & R 65,930 (125,090)| 57,710 (116,870) |+ 630 (1,140)| x mg=E 550 (1,050)| x &= 7,290 70X
60A L1, 2me 125,090] (198,060)| 116,870 (189, 840)|+| 1,140] (1,870)| x &= | 1,050 (1,780) x =
gT | 3% [y w| | 198 060 189, 840 +[ 1,870 xmgE | 1,780 X mEE
N pm [4BULR 52,710] (60, 000)[ 45 660] (52 950)]+ 500  (570)| xfnEE 430]  (500)| x g = (7,290)|  (70x %K)
NS 3 B B 60,000/ (119,160)| 52,950 (112, 110)|+ 570 (1,080) xmnE=R 500 (1,010) xm&xE 7,290 70X Mg
70A L |1 2me 119,160] (192,130)| 112,110/ (185,080)|+| 1,080 (1,810)] xfm&= | 1,010 (1,740)] x mE=
T | 3% |y w| | 192130 185, 080 +| 1810 xmgE | 1,740 x o
71 A pm [ABULR 48,310] (55,600)[ 42 150[ (49 440)|+ 460]  (530)| xfnEE 400  (470)| x = (7,290)|  (70x %K)
NS 3 & R 55,600 (114,760)| 49,440 (108,600)[+| 530 (1,030) xmeEs® 470 (970) x 7.290] 70X mEE
80A L. 2me 114,760] (187,730)| 108,600/ (181,570)|+| 1,030 (1,760) xnE=R 9700 (1,700) xR
T | 3% |y w| | 187,730 181, 570 +| 1,760 xmg®E | 1,700 x i
N om [4BULER 44,850] (52, 140)[ 39,370] (46, 660)]+ 430]  (500)| xfnEE 370  (440)| x = (7,290)|  (70x %K)
B 3 B R 52,140 (111,300)| 46,660 (105, 820) |+ 500] (1,000) x & 440 (940) x sk 7.290]  70x g
90A R 2R 111,300 (184, 270)| 105,820/ (178,790)|+| 1,000/ (1,730)| xfn&== 940, (1,670) | xmEE
00| EFT | %F |z w| | 184, 270 178,790 +| 1,730 x g | 1670 X i
2 N s |4BULR 38,880] (46,170)[ 33,940 (41, 230)|+ 370 (440) xR 320 (390) xR (7,290)|  (70x mnF*)
»s |73 8 =& 46,170 (105,330)| 41,230 (100,300)|+| 440  (940) xmE= 390 (890)| x MK 7,290  70xmEE
1004 L1 2me 105,330 (178,300)| 100,390 (173, 360)|+ 940 (1,670) xmER 890 (1,620) xnE=R
T | 3% |y w| | 178 300 173, 360 +| 1670 xmEE | 1,620 x o
101A | o |4EALE| [ 36,940] (44230 82,450 (30,740)|+|  350] (420) xmE | 00| (30)| xmeE |+[ (7. 200] (70x )
e 3 & R 44,230 (103,390)| 39,740 (98, 900)[+| 420 (920) x ¥k 370 (870) x 7.290]  70xmEE
oA oo 1. 2ER 103,390] (176,360)| 98,900 (171,870)| + 920 (1,660) X nER 870/ (1,600) xfnE=R
FT |37 |y gl | 176, 360 171,870 +| 1,650 x g | 1,600 X i
A | o |#BALE| [ 35200 (42560 1,180 (88, 470)|+| 330 (400) xm¥ | 290 (360)| x ek | +[ (7. 200 (70X m¥)
e 3 & R 42,580 (101,740)| 38,470 (97.630)|+| 400 (900) x ¥z 360 (860) N 7.290]  70xmEE
120A oo 1o 2m| | 1017400 (174,710)| 97,630 (170,600)|+| 90| (1,630)| x ¥ | 860| (1,590) x L
FT |37 |y gl | 174 710 170, 600 +| 1,630 x g | 1,590 X i
2K | 05 |ABHER 33,890 (41,180)[ 30,090] (37, 380)]+ 320 (390)| xfnEE 280]  (350)| xfnE= (7,290)|  (70x %K)
e 3 B R 41,180 (100,340)| 37,380 (96,540)|+| 390 (890) xmE= 350 (850) x MK 7.290]  70xmEE
A L 1L 2ER 100,340 (173,310)| 96,540 (169, 510)| + 890 (1,620) xmmER 850 (1,580) xinE=R
FT |37 |y gl | 173310 169,510 +| 1,620 x g | 1,580 X i
1BIA | gm |ABULR 32,720] (40,010)[ 29, 200] (36, 490)| + 300 (370)| xfnEE 270]  (340)| x g = (7,290)|  (70x %K)
e 3 & R 40,010] (99,170)| 36,490 (95,650)[+| 870 (880) x ¥z 340, (840) x 7.290] 70X mEE
140 A 1. 28R 99,170/ (172,140)| 95,650 (168, 620) |+ 880 (1,610) Xjn&Ezx 840| (1,570) xfnEx
T | 3% |y w| | 172,140 168, 620 +| 1610 xmg®E | 1,570 x o
A | gp |ABULER 31,690 (38,980)] 28,400 (35, 690)| + 290 (360)| x MEX 2600  (330)] xpnEx (7.290)[ (70 M EK)
e 3 & R 38,980 (98,140)| 35,690 (94,850)|+| 360 (870) xmEE 330 (830) x Mk 7.290] 70X mEE
150N - |1, 2®R 98,140 (171,110)| 94,850 (167, 820)|+ 870, (1,600)| x &= 830, (1,560) xmExE
T | 3% |y w| | 171110 167, 820 +| 1,600 xmg®E | 1,560 x o
BIA | o |ABHMER 31,650] (38,940)[ 28 570[ (35 860)]+ 290]  (360)| xfnEE 260]  (330)| xfnE= (7,290)|  (70x %K)
e 3 & R 38,940 (98,100)| 35,860 (95,020)[+| 360 (870) xmEzE 330 (840) x 7.290]  70xmEE
1601 - |1, 2®R 98,100/ (171,070)| 95,020 (167, 990)|+ 870, (1,600) x &= 840, (1,570)| xmEE
T | 3% |y w| | 171,070 167, 990 +| 1,600 xmg®E | 1,570 X o
161A | o [ABULR 30,820] (38, 110)[ 27,920] (35 210)]+ 280]  (350)| xpnEE 260]  (330)| xfnE= (7,290)|  (70x %K)
e 3 & B 38,110| (97,270)| 35,210 (94, 370)|+ 350  (860) x gk 330 (830) x sk 7.290]  70x g
170 1. 28R 97,270, (170, 240) 94,370| (167, 340)|+ 860 (1,590)| xfngx 830 (1,560)| xfn&E =
T | 3% |y w| | 170 240 167, 340 +| 1,59 xmE® | 1,560 x o
re |4RULER 30,060] (37,350)| 27,320] (34,610)|+ 280  (350)| X MNEER 250 (320)] xMEXR (7,290)]  (70x g %)
171A 3 & R 37,350 (96.510)| 34,610 (93,770)|+| 350 (850) x ¥z 320 (820) x 7.290]  70xmEE
e[ 1. 2&R 96,510 (169, 480)| 93 770/ (166, 740) |+ 850 (1,580) xmnER 820 (1,550) xR
e ®| | 169,480 166, 740 +[ 1,580 XmER | 1,550 LIRS
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i . AT E AN 2 N BEENNE
- . %1% - 28 ORBEBAL 25 LC2BHATE L0 :;ﬁ # B o
% | g 0 M- E n i
x4 | EEED | g F@mKS - - - . Epae B2 2\
RRREE BAMR ke s BATMER e 5
g1 B Ok gmE |2 | g = & | w2 &
@ @ ©) @ (@) @ ®
s |4BUELR a it | 31,600 35 200] 22, 100 22, 100
=
3 ®m R ~ 15A o bt | 17,400 19,400| 12,200 12, 200
oA oo 1o 2| |29 ce0x 200 X ANEE X MEE ALK 14,700 16,100 10,200 10,200 | +| " oo ool 16 600 10, 600
FT %7 la 3 ditiig | 13,600 15,100 9,500 9,500
A s |4BULER a#ti% | 15800 17,600] 11,000 11,000
= N
" 3 m R 16~ 254 o bt | 8700 9,700 6,100 6, 100
200 oo 1o 2| | 17000 170 B x B A% 7,300 | 8,000 | 5100 5, 100 s | 7600 8400 & 300 5 300
FT %7 |a 3 ditii | 6,800 7,500 4,700 4,700
2 A om |4BULR a#ti% | 10,900 12 200] 7,600 7, 600
= N
" 3 ®m R 26 A~ 35A o b | 6000 6 700 4,200 4 200
0% o |1 2w |12 m0mE 120 X MEE x MERA %K 5,100 | 5,600 | 3,500 3,500 s | 5200 5800 3600 3600
FT %7 la 3 ditii | 4,700 5200 3,300 3 300
A s |4BULR attii% | 9800 10,900] 6,800 6,800
= N
" 3 ®m R 36 A~ 45A o bt | 5400 6,000 3 700 3, 700
0 o |1 2mn| | 0 o0mma 90 X N5 X ANER A ¥ 4,400 | 4,900 | 3,100 | 3,100 s | 4700 5200 3300 3300
FT %7 |a 3 ditiig | 4,200 4,600 2900 2 900
A s |4BULR aitii% | 8800 9 800 6 100 6 100
= N
" 3 ®m R 46 A~ 60A L bt | 4,800 5 400 3,400 3,400
50 o |1 2mn| | a0 70 X MK X ANERA ¥ 4,000 4,400 | 2,800 2,800 s | 4200 4700 2900 2900
FT |7 la 3 ditii | 3,800 4,200 2600 2 600
5A s |4BULR attl% | 7,200 8 100 5 100 5 100
= N
" 3 m R 61 A~ T75A L bt | 4,000 4 400 2 800 2, 800
60k v |1 2mn| | 5 oimm 50 X N5 X ANERA ¥ 3,400 3,700 | 2,300 2,300 s | 350 3800 2400 2 400
FT %7 |a 3 ditii | 3,100 3,400 2100 2100
oA s |4BULR atti% | 6300 7,100 4,400 4,400
= N
" 3 ®m R 76 A~ 90A o b | 3,500 3,900 2 400 2, 400
70 v |1 2mn| | 400 40 X MK X ANERA B 2,900 3,200 | 2,000 2,000 s | 3000 300 2100 2100
L sl ED 3 ditii | 2,700 3,000 1,900 1,900
A s |4BULR atti% | 7,100 7,900] 4,900 4,900
= N
" 3 ®m R 91 A~ 105A o bt | 3,900 4,300 2700 2 700
S0k v |1 2mn| | 420 40 X IR X ANER A % 3,300 3,600 | 2300 2, 300 o | 2400 3800 2300 2800
FT %7 |a I3 ditii | 3,000 3400 2100 2100
3 A s |4BULR atti% | 6300 7,100 4,400 4,400
= N
" 3 m R 106 A~ 1201 o b | 3,500 3,900 2 400 2, 400
90 e 1o 2| | 8 70xmE AR 30 X M X ANERA % 2,900 3,200 | 2,000 2,000 csm | 3000 3400 2100 2100
/10 FC |77 |a B, ditii | 2,700 3,000 1,900 1,900
L I s |4BULR aitii% | 5500 6 200 3 900 3 900
= N
" 3 m R 121 A~ 1351 o bt | 3,000 3400 2100 2 100
1000 |01 2me| | 3300 mEAM S0 T3 x MBS A 2,600 2,900 1 1.800 | 1.800 o | 2,600 2900 1,800 1,800
L sl ED I3 ditii | 2400 2600 1,600 1,600
01A | om [4BULR aitii% | 6100 6 800 4,200 4, 200
= N
" 3 m R 136 A~ 1504 o bt | 3300 3700 2300 2 300
noA |1 2me| | 290 mEAM 20 T X MEEA K 2,900 3,100 1 2,000 | 2,000 o | 2,900 3,200 2,000 2 000
FT %7 |a I3 ditii | 2,600 2900 1,800 1,800
A | e [4EHER ath | 5500 6 200] 3,900 3 900
= N
" 3 m R 151 A~ 1804 o bt | 3,000 3400 2100 2 100
20x [ 1 2| | 20omEA 20 X M X ANER A % 2,600 | 2,900 | 1,800 1,800 s | 2600 2900 1800 1800
FT %7 |a 3 ditii | 2400 2600 1,600 1,600
1218 | = [4BHUER att | 51000 5 700] 3,500 3, 500
= N
" 3 m R 181 A~ 2104 o bt | 2800 3100 1,900 1,900
x| 2m| | 210omAs 20 X M X ANERA 4 2,400 | 2,700 | 1,700 | 1,700 s | 2400 2700 1700 1700
L sl ED 3 ditii | 2200 2400 1,500 1,500
1BIA | = [4BHER ath | 5500 6 200] 3,900 3 900
= N
" 3 m R 211 A~ 240K o bt | 3,000 3400 2100 2 100
wx [ 2m| | Le0omeas 10X MNEE X AFER AL 2,600 | 2,900 | 1,800 1,800 s | 2600 2900 1800 1800
FT %7 |a 3 ditii | 2400 2,600 1,600 1,600
A | e [4EHUER atl | 5 4000 6 000] 3,700 3, 700
= N
" 3 m R 241 A~ 270X o bt | 2900 3300 2000 2 000
B0A o 1. 2R| | 1es0xmERAK 10> A2 > MO A M 2,400 2,700 1 1,700 1 1,700 o | 2,500 2800 1,800 1,800
FT %7 |a 3 ditii | 2300 2500 1,600 1,600
15IA | = [4BHER ath | 4,800 5 400[ 3,400 3, 400
= N
" 3 m R 271 A~ 300A o b | 2600 2900 1,800 1,800
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s | g | BE | mpma REREBERE | RARBERE RERERERE RERBEAT
K5 &% BB EARH B RBHEES
[ cx1) | [ Gx1) | GET) GET) 31
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e [4BULER 214,050 (220, 750)| 168,270 (174, 970)|+[ 2 120 (2, 180)] xm&= | 1,660 (1,720) x gz (6,700)] (60 x InE =)
S 220,750 (275,760)| 174,970 (229, 980)|+| 2,180 (2.640)| xmE= | 1,720 (2 180) xmmE=R 6, 700 60 x ME
104 =T 275,760 (342, 810)| 229,980 (297,030)|+| 2 640/ (3,310)| xm&E= | 2 180 (2 850)| x g
T | 3% [y gl | 342810 297, 030 +[_ 3310 xmEE | 2 850 X mEE
A pm [4BULER 116,110] (122, 810)[ 93,2201 (99, 920)| +[ 1,140] (1,200)] x fn&= 910]  (970)| x = (6,700)|  (60x pnEE=K)
NS 3 & R 122,810 (177,820)| 99,920 (154,930)|+| 1,200 (1,660)| x mEx 970 (1,430)| xmE= 6, 700 60 x s
20N g |12 28R 177,820| (244,870)| 154,930 (221,980)|+| 1,660 (2,330)| x &= | 1,430 (2 100) XjnE=x
FT | 37 |y B| | 244, 870 221, 980 +| 2330 xE®E | 2100 X i
21 A e [4BULER 83,370] (90,070)[ 68 110[ (74 810)|+ 810]  (870)| xfn&x 660] (720)| xfnE= (6,700)|  (60x pn%E=K)
A 8 & ®| | 0070 (145080)| 74,810 (129,820)|+| 870 (1.330) xm#mE | 720 (1,180) xmsmE |+| 6700 eoxmux
30A e |10 2BR 145,080 (212,130)| 129,820 (196,870)|+| 1,330 (2,000)| x &= | 1,180 (1,850) x =
FT |37 |y gl | 212 130 196, 870 +| 2000 x g | 1,850 X i
N )m [4BULER 67,100] (73,800)[ 55 650] (62 350)]+ 650 (710)| xfngEx 530]  (590)| xfng= (6,700)|  (60x pn%E=K)
NS 3 ® R 73,800 (128,810)| 62 350 (117, 360)| + 710] (1,170)| x &= 590/ (1,060)| x o= 6, 700 60 x fnEx
40A o1, 2me 128,810] (195,860)| 117,360 (184, 410)|+| 1,170] (1,840)| x &= | 1,060 (1,730) x =
g | 3% [y w| | 195 860 184, 410 +[ 1,840 xmgk | 1,730 X MEE
A pm [4BULER 62,330] (69,030)[ 53 170] (59 870)]+ 600]  (660)| xfnEkE 5100  (570)| x g = (6,700)|  (60x %K)
A 8 i ®| | 69,030 (124,040)| 69,870 (114,880)|+| 660 (1,120) xm#k | 5670 (1,00) xm#* |+| 6700 eoxmux
50.A =T 124,040 (191,000)| 114,880 (181,930)|+| 1,120 (1,790)| x &= | 1,030 (1,700) xmE=
gT | 3% [y gl | 191, 090 181, 930 +[ 1,790 xmgE | 1,700 X mEE
51 A pm [4BHLER 54,510] (61,210)[ 46 880] (53 580)]+ 520 (580)| xfnE & 450 (510)| xfnE= (6,700)|  (60x pn%E=K)
NS 3 & R 61,210] (116,220)| 53,580 (108,590) |+ 580/ (1,060)| x IEE 510 (970)| x % 6. 700 60 x s
60A =T 116,220] (183,270)| 108,590 (175, 640)|+| 1,050 (1,720) x = 970 (1,640) X ER
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N pm [4BULER 49,000 (55, 700)[ 42 460] (49 160)]+ 470 (530)| x fnEE 400]  (460)| xfnE= (6,700)|  (60x pn%E=K)
NS 3 B R 55,700 (110,710)| 49,160 (104,170)|+| 530  (990) xms= 460, (920) x K 6,700]  60xmE=
70A s 2me 110,710) (177,760)| 104,170 (171, 220)| + 990 (1,660) xpnER 920 (1,590) xR
gT | 3% [y w| | 177,760 171, 220 +[ 1,660 xmgE | 1,590 X mEE
71 A pm [4BULER 44,920] (51,620)[ 39, 200] (45 900)]+ 430]  (490)| xfnEE 370 (430)| xfnE= (6,700)|  (60x pn%E=K)
NS 3 & =B 51,620 (106,630)| 45,900 (100,910) |+ 490 (950) x ek 430 (890) gk 6.700)  60xfmEE
80A =T 106,630 (173,680)| 100,910 (167, 960) | + 950 (1,620) xpnER 890 (1,560) xpnER
gT | 3% [y w| | 173 680 167, 960 +[ 1,620 x gk | 1,560 X mEE
N e [4BULER 41,700] (48,400)[ 36,610] (43 310)|+ 390]  (450)| xfnEE 340]  (400)| x g = (6,700)|  (60x pn%E=K)
NS 3 ® R 48,400 (103,410)| 43310 (98,320)[+| 450 (920) xmEE 400 (870) x 6.700]  60xm%FE
90A =T 103,410 (170,460)| 98,320 (165, 370) | + 920 (1,590) xmER 870/ (1,540) xnE=R
zom| FT|%F |z w| | 170, 460 165, 370 +[ 1,590 x gk | 1,540 X mEE
wE [ g e |4BULR 36,280] (42,980)[ 31,700] (38, 400)|+ 340 (400) x pnEK 290 (360)| x pnEEEK (6,700)|  (60x hnF k)
»s |73 8 =& 42,980 (97,990)| 38,400] (93 410)|+| 400 (860) xmE= 350 (820) x MK 6.700]  60x mEE
1004 o 1. 2%R 97,990/ (165,040)| 93 410/ (160, 460) |+ 860 (1,530) xpnE=R 820 (1,490) xpnE=
g | 3% [y w| | 165 040 160, 460 +[ 1,530 x gk | 1,490 X mEE
01K | o [ABULER 34,470] (41,170)[ 30,310] (37, 010) ]+ 320 (380)| xpnEE 280]  (340)| xfnE= (6,700)|  (60x pn%E=K)
e 3 B =B 41,170] (96,180)| 37,010 (92 020)|+ 380 (840) x Mk 340 (800) x gk 6.700]  60x g
110A o 1. 2%R 96,180 (163,230)| 92,020/ (159, 070) |+ 840 (1,510) xnE=R 800 (1,470) xinE=
gT | 3% [y w| | 163 230 159, 070 +[ 1,510 xmgE | 1,470 X mEE
A | 0 [ABULER 32,9200 (39,620) 29,110/ (35, 810)|+ 310]  (370)| xmEX 2700 (330)| xpnEx (6,700)[  (60x MnEEK)
e 3 B R 39,620 (94,630)| 35810] (90,820)|+| 370 (830) xmE= 330 (790) x m#E 6.700]  60xmER
120 A - |1, 2®R 94,630 (161,680)| 90,820 (157,870)|+ 830 (1,500)| x &= 790, (1,460) | xmEE
T | 3% [y w| | 161,680 157, 870 +[ 1,500 x gk | 1,460 X mEE
1218 | o [ABULR 31,620] (38,320)[ 28 100[ (34 800)|+ 290]  (350)| xfnEE 260]  (320)| xfnE= (6,700)|  (60x pn%E=K)
e 3 & R 38,320 (93,330)| 34,800 (89.810)[+| 850 (820) x ¥z 320 (780) x 6.700]  60x Mm%k
1300 o 1. 2%R 93,330] (160,380)| 89,810/ (156, 860)|+ 820 (1,490) xR 780 (1,450) xpnEE
g | 3% [y w| | 160,380 156, 860 +[ 1,490 x gk | 1,450 X mEE
131N | 0 [ABULR 30,530 (37,230)] 27,260 (33,960)| + 280 (340)| x MEX 2500 (310)] xpnE& (6,700)[  (60x MnEEK)
e 3 & R 37,230 (92.240)| 33,960 (88,970)|+| 340 (810) xm¥zk 310 (770) x 6.700]  60xm%E*E
1400 = |1 2®RE 92,240 (159,290)| 88,970 (156, 020)|+ 810 (1,480) = 770, (1,440) | xpfx
g | 3% [y w| | 159, 290 156, 020 +[ 1,480 x gk | 1,440 X mEE
WA | 0 [ABULER 29,560 (36,260)[ 26,510] (33 210)|+ 270]  (330)| xfnExE 240]  (300)| xfnE= (6,700)|  (60x pn%E=K)
B 3 B B 36,260 (91,270)| 33210 (88, 220)|+ 330 (800) x gk 300, (770) x gk 6.700]  60x g
150 A - |1, 2®R 91,270 (158,320)| 88,220 (155, 270)|+ 800 (1,470)| x &= 770, (1,440)| xmEE
T | 3% [y w| | 158 320 155, 270 +[ 1,470 xmgE | 1,440 X mEE
151 | o [ABULR 29,580 (36,280)] 26,720 (33, 420)| + 270)  (330)| x MEX 2400 (300)] x pnE® (6,700)[  (60x MnEEK)
e 3 B =B 36,280 (91,290)| 33 420 (88, 430) |+ 330 (800) x gk 300, (770) x gk 6,700]  60x g
160 A - |1, 2®R 91,200 (158,340)| 88,430 (155, 480)|+ 800 (1,470)| x &= 770, (1,440) | xmEE
T | 3% [y w| | 158 340 155, 480 +[ 1,470 x gk | 1,440 X mEE
161A | o |*EMLER| [ 25.800] (35,500)[ 26,110 (32.810)|+[ 260 (320) L | 240] (300)| x ik |+[ (6700 (60X mE)
e 3 & R 35,500 (90,510)| 32,810 (87,820)|+| 820 (790) x ¥z 300 (760) x 6.700]  60x Mm%k
170 A - |1, 2®R 90,510 (157,560)| 87,820 (154,870)|+ 790, (1,460) | x &= 760, (1,430)| xmEE
T | 3% [y w| | 157,560 154, 870 +[ 1,460 x gk | 1,430 X mEE
re |4RULER 28 090] (34,790)| 25550 (32, 250)|+ 2600  (320)] xEXR 230 (290)] xmEXR (6,700)] (60 x fnE =)
7IA 3 @ W| | 34790 (89.800)| 32,250 (87.260)|+| 320 (780) xm#E | 290 (760) x g 6.700] 60xmEr®
e[ 1. 2&R 89,800 (156,850)| 87,260 (154, 310)|+ 780 (1,450) x mER 760 (1,430) xR
e ®| | 156,850 154, 310 +[ 1,450 XER | 1,430 LIRS
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=
3 B R ~ 15A b | 17,400 19,400| 12,200 12,200
270 % IEEE X 14,700 16,100 | 10,200 10, 200
A [ 1. 2mR| |27 510xmERAK IS X B ' ’ ' ’ o Hi | 15,200 16,900| 10, 600| 10, 600
FT |7 g " dE | 13,600 15100 9,500 9,500
A | 5 [ABBER atbiE | 15800 17,600] 11,000 11,000
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160 x B X 7,300 | 8,000 | 5100 | 5, 100
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2A | om [AEHALR atbE | 10,900 12 200] 7,600 7,600
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A | om [4BHLR aibE | 8800 9.800] 6100 6 100
5 3 B B 46A~ BOA bl 4,800 5400 3 400 3,400
60 X ANz X 4,000 | 4400 | 2800 | 2 800
S0A | Lo |1 2&K| | 6870xmEAK T < MEE A ’ ' ' cHg | 4,200 4,700] 2 900 2 900
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60A | o |1, 2&K| | 5500xmEAK T A ’ ' ’ ' cHi | 3,500 3,800| 2 400 2400
Ll Rl ED " diE | 3100 3400 2100 2100
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5 3 B R 91 A~ 1054 biE 3900 4300 2700 2 700
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